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x%/(411930-5059)=1.104=>1.008

| 1 B L]
e S ARGl SRl el <
o o e o g e et e b e
;,w”\ U O A L RS TR
e e s
Pl e A B A e ORI
S IR R L s TR A -
it Ao e b ko o e 16 i
Y“cu\‘”‘w\""“gw‘c\“““‘v‘\”\"‘ itk AL o s R Rl T o e o b
A g e e A e R .
o i i
< i i L i ity
i Ay
ety W e i O btk S A T
. [ At e B
LSO N L A ) e e o S i o
1 e i ”u‘"\ i ‘“.u“\\‘\l‘ b u““““ “N\‘l\‘m\“‘"\‘ m.ml“‘m s o ‘v:\\‘\\““\‘:\‘:‘.“’,“w";‘m“u‘}“\‘l“w b

o J.‘V‘v‘u:i i ﬂ“‘c‘\“‘m‘r "‘\‘.“\w\‘\wlml\\”\‘\’: dj&l\:\‘l‘\l‘w“.y:“ AR G A
i) LI WAL i L

A e
i

2000
A @) z = 1.78791

i il

u = 0.026(20) x = 1.020(85) => 1.020(85)

med(mad) A
T T T

J A
YRRy
.4, Whilbd b b n

Al Wy L o e
P VRIS ST

U e
ak itk e,

LR Eatulk et}
PO RIS

2000
A Q@) z

1.78791

f) (10717 erg em™2s7'87")

& and x

Continuum Lightcurve
rm648

0.2
T
IliI
0
Ac %

-0.2
T
ill

—-20

12908 )
7000

16794 )
7500

21858 )
8000
MJD — 2450000

28438
8500

37008
9000

BLR Lightcurve

L L e E e e e LA B S ey B B S S S |

oL -

N

o L -

—

e T
PR S R R S S PR PR T S [ S S SR TR |

MJD — 2450000

Corrections

o rm648
- T T T T T T T T T T T T
o[ ]
(22 L P T T S S S S R R S S S S RS S R |-
e 7000 7500 8000 8500 9000
MJD — 2450000
w = —0.03(23) x = 0.958(31) => 0.958(31)

rm648 med(mad) A

‘u_’- FT T T T T T T T T T T T T T T T T T T T T T T =

MJD — 2450000



